You are in charge of selling advertising for radio station KGSM. The fee you can set for air time is directly related to the share of the listening market your station reaches. From time to time you should conduct surveys to determine KGSM’s share of the market. This month you contacted 20 randomly selected residential phone numbers, 12 respondents said they listen to KGSM.

Refer to table 7A on the Handout for MegaStat output.

Part A 
What is the 99% confidence interval for the percentage of listeners of KGSM. Interpet this confidence interval.

Part B 
A KGSM salesperson tells potential advertisers that KGSM has a 10% share. What would you tell this salesperson? (Is the salesperson correct? Why?)

